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Our Shiur began by continuing the discussion of

7 Ron Sobon - Which miin said is the reason why 100
M0 RW - boats do not become XY, because they cannot
be carried when full, because of its weight.

R17 says; 050 PHY DMWY T 5 00 R1InD) -

Even ifit's so heavy that it can only be carried by oxen, it's
considered that it can be carried and it can become rn»v.

The xm proves this from a mwn» which says

1 M9 WO - there are 3 categories of wagons.

One type is shaped like a chair, and was made to carry
people, and therefore it can become xnv through ©371 - by a
RPL person sitting on it.

Another type is built like a bed, and was used for carrying
things, not people, and so it cannot become X»>v through ©77»
- only van NP - by direct contact.

And the third type is a very heavy wagon used for carrying
stones. If this wagon has big holes, it cannot become x»v at
all. It’s not ©17» DRIV Sap» because it's not meant to carry
people. It's not van nrmv Hapn because it has no M2°p 72 - no
receptacle. However, if it has no holes, and it can hold 017 -
pomegranates, then it can be v nRPIL Yapn.

Now, this wagon, when loaded with stones, can only be
moved by oxen, and the Mishnah says that it's iR Hapn.

Then the X3 brings a Xn172 which mentions the nzmw of
boats. It says

70 ©I1°55 ©77» - the X Rin holds that a o3 °53, an
earthenware vessel, cannot become 8w through o770,
And oy 17 adds,

n1ro0n R - also a boat.

Now, *01 °27 cannot mean that a boat also does not become
RO through 0771, because we already know that a boat
cannot become Xpv at all!
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The ) at first gives an explanation which is rejected, and
R99 17 gives another explanation. He says the miwn should be

read differently. It should say NI P ::ii?;n "5 B

I - RPV WM 70 ©IN 52 D171 can become RnL through

touch, but not through ©37n. 37 Pee 24 own Cahes

?Y 51 - but a wooden vessel CAN become Xnv through both v v X v
touch and o7,

770 1770 nroo - However, the boat of the 177 is 7m0, even - :’Z/./:Z: v _ A
though it’s made of wood, because boats can never become oy 22 1=5ha B Hlox BN
R»v, like our mwn said. This is all the opinion of the Xip Rin

who learns this Halacha from o 252 /718 7797, which includes C ?/717;};7;"5’;7 : ’_f; ,L} ;Z’IIIIL;{; IJ t;w
all boats. However, "or »17 disagrees and says nRpv 11000 R 2Yn R
- the small wooden boat of the 177’ can become xnvlike any frtaiEse

other y» *53, because he holds like 7217, that the reason boats )
generally do not become xiv is because of 171 X512 SvHvn - mt 78 v B> N T Shoy
and since a small boat can be lifted, it can become Riv. W OO0V B PH
As to the source for this Halacha that o does not aquire S apYsE HOH

07 IRV, the X3 cites two Psukim. One o9 is;
120WN1 VX TWR WRI - if a person touches a 21's couch, he
becomes Rnv from the couch which is Xipv through ©y7».
The other ;o9 is; N5 > N7 20Wn3 - It shall be like the
couch of her time of Niddah.

. In both cases the nn refers to it as his/her couch, which
compares the couch to the 21 or 771 themselves.
Now, a 21 or 773 can become 7170 by immersing in the mp»,
and the moo is saying that the couch also needs to be
something that can become 770 through the mp». But
MpP2 TN 75 97 09N 'Y - earthenware cannot become MAv
in the mpn. As Rashi explains, because the posuk says;
92w’ 21712 VX TWR ©IN 531 - says Rashi; 1nvaw ROR 7900 D PR -
it only becomes 7110 by breaking it.
Since ©I1 53 it is not similar to 21 or 773 in this respect of
MPPa 790, it also is not ©ITH NRLIL Sy,

RYY’R 127 questions this ruling from a Xn»72 which says

yo» - a mat made out of reeds can become 8w through ©77» 2

-Even th(?ugh it.cannot become V70 in the mpm», because.a NI Y4 RO 129

reed mat is considered a yy *53 019 - a wooden vessel with

no receptacle, which does not become W70 in the mpmn. J V D D

R 727 answers 113 RYR) 2N DN IRW - the mat is
different because there are other vessels in its class - other
wood vessels that can become 71770 in the mpn. Therefore, the »Y T
category of wood vessels is not completely different than 1, @ X [ ( e
and all wood vessels can become xnv through ©77. JY 1Jo 1010
However, regarding o7, there are no earthenware vessels
that can become 70 in the mpn. Therefore, 0N is
completely different than 21, and cannot become x»v through
R °27.0770 derives this distinction from 2 0’109 which
seem to contradict.
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One says; 120Wn1 VY TUR WNI -

If a man touches the 2v’s couch, he becomes R0, In this 7109,
the word 120wn3, his couch, implies that the 21 and the couch
need to be similar in order for the couch to aquire nxMV
joRitsX

The second 709 says; RV’ 217 PHY 250 TWR 25007 5 -

Any couch the 21 lies on becomes X»v. This 105 doesn't use
the word 125w - his couch - which implies, even if the couch
is not similar to the 21 it can aquire ©IT NRHIV.

To reconcile these two 0100 we must say that they are
talking about two categories of vessels.

mpma 7o 7Y T 23 5Y 9R 1ma v - Where other vessels in
its class can become M0 through mpn, then even the vessel
that cannot become 770 through mpn» can aquire ©I7 NRMV.
But a category that none of its vessels can become v in the
mpn, it also cannot become x»v through ©37H.

That's why a reed mat can become Ri»>v through ©171, and
©IN cannot.

We proceed with the next m3w» which also begins with the
word 7.

From where do we know that if a patch in a field is 6 by 6
Dnov, you can plant 5 different types of seeds without having
to worry about 853, Y ou would plant four species along the
four sides, and one seed in the center.

The mwn answers that the source is the ,©9 which says
MPRRN PYITT N NN RN PIRD 0D - Just like the earth gives
forth its plant, and like a garden causes its seeds to sprout.
The X3 explains that each of the words in the p7o9 that
mean growth or a plant indicates a different type of seed. So
the words nnnx ,xxin, and 'pxn teach three types of seed.
And the word v is plural, teaching two more seeds, for a
total of five. Rashi adds; although the size of the patch is not
indicated in the posuk, 13175175 0’p - the Chachamim knew
that a patch of 6 by 6 o'nov is the smallest area that you can
plant 5 types of seeds without having to worry about O'X>>.
Rashi explains that each vegetable draws nourishment from
one-and-a-half onov around it. This way, since each species
is three o'nov away from the center, they are not drawing
nourishment from the same area, and are considered
separated. Rashi further explains that the four sides may be
planted full length - except for the corner - even though the
ends of the rows are less than 3 o'nov apart. Because, the
MoK of ©'R51 is that the two species should not appear to be
mixed, but rather remain separate and distinct. It is not the
1y - the fact that two species draw nourishment from the
same soil. Therefore, two perpendicular rows - one running
north/south and the other east/west - are not a problem.
However, the one in the center, if it's too close would seem to
be mixed with the others. A distance of np’» 75 1w, which
is 32 - D'mov times 1-1/2, is considered a significant separa-
tion, so that it does not appear mixed together.
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